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Instructions to the Examinee :

1.

Do not open the booklet unless you are

asked to do so.

The booklet
Examinee is required to answer any 50
OMR Answer-Sheet
provided and not in the question booklet. If

contains 60 questions.

questions in the
more than 50 questions are attempted by

then the first attempted 50
questions will be considered for evaluation.

student,

All questions carry equal marks.

Examine the Booklet and the OMR Answer-
Sheet very carefully before you proceed.
Faulty question booklet due to missing or
duplicate pages/questions or having any
should be got

other  discrepancy

immediately replaced.

(Remaining instructions on the last page)
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1. WE-YRA® @1 79 d@ 7 @lel 9 T AT FEl
Y|

2. WA-gRAE # 60 We B e @l foe

50 WeHl B dadd 4 T3 OMR AR-¥E | &
g BT &, WeA-YReT W 7| Ife BT gNI
50 ¥ 3Afed Al B T [BAT ST & T URS
T 53 gU 50 ST @ & qid gg AfAferd
foar Som | i ueEl @ o FHA 2 |

U & IR SAfhd H A @ GRA-GRABT T
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(Only for Rough Work)



R, T H BRGRYE (TH /41°) B I
LRDIL ARG

(A) 565

(B) 7.5—8.0

(C) 9—95

(D) 10—10.5

Agd URe WM REd $RIcge, SR
D1 RO g8 o -

(A) 1952

(B) 1957 %
(C) 1959 #
(D) 1962 ¥

WR @ oIy 69 fduT. 3o /3. g IR
D A

(A) 90 fom.

(B) 120 foum.

(C) 150 foum.

(D) 180 febu.

400 G /TICAR AT P I &Y
di\N'ICI"I A DI AR

(A) 140 fHuT /BTRR

(B) 150 fourT. /2R

(C) 170 f&uT. /BRW

(D) 200 BT, /TR

AGRON-5002

(3)

Recommendation for basal application of
phosphorus (g/mz) for tobacco nursery
IS :

(A) 5—65

(B) 7.5—8.0

(C) 995

(D) 10—105

Central Aird Zone Research Institute,

Jodhpur was established in :

(A) 1952

(B) 1957

(C) 1959

(D) 1962

Quantity of urea required to supply 69 kg
N/ha. to sorghum is :

(A) 90kg

(B) 120 kg

(C) 150 kg

(D) 180 kg

Potato crop yielding 400 g/ha. on an
average requires nitrogen (kg/ha) :

(A) 140

(B) 150

(C) 170

(D) 200

Set-A



5. ﬁﬁ 3 Bact | IUT TS T 5. Proper application of potassium fertilizers

to wheat crop :

(A) ot (A) Basal
(B) & H TN (B) Side dressing
(C) T W H (C) Top dressing
(D) SWE ¥ | FIg el (D) None of the above

6. NN 3T %@ I T T RO W 6.  Country more depending on N, fixation

AT AN 2 for crop production is :
(A) ulelvs (A) New Zealand
B) I T (B) U.S. A
C) I . (C) U.K.
(D) SIUTA (D) Japan

7. IR ¥ 9IEIRCT DI AT BT AR 7. Biurate content of urea should be :
(A) 0.25% (A) 0.25%
(B) 0.50% (B) 0.50%
(C) 0.75% (C) 0.75%
(D) 1.50% (D) 1.50%

8. IR Yad YA 7 8.  Hill soils are mostly :
(A) &R (A) Alkaline
(B) ofaviia (B) Saline
(C) 3y (C) Acidic
(D) e (D) Neutral

AGRON-5002 (4) Set-A



9. HifoTesTH 39 & : 9.  Molybdenum is a component of :

(A) IRTS BT (A) Urease

(B) SIS &1 (B) Nitrogenase

(C) Tsge Re®M @ (C) No, reduction

(D) (B) @ (C) THI @I (D) Both (B) and (C)
10. %1 U1 v, &9 A9 | dedl © ? 10.  Soil pH increases in season :

(A) T (A) Summer

(B) i (B) Winter

(C) S< (C) Zaid

(D) HIRA o (D) Monsoon season

11. 9Rd ¥ AEehH  SiRE %@ qﬁm Gl 11.  Urea contribution for N fertilizer in India

ATer & is :
(A) 60% (A) 60%
(B) 70% (B) 70%
(C) 80% (C) 80%
(D) 90% (D) 90%
12. TSN 8 Bell I {6 SR BT g ? 12. The black colour of vertisols is due to
presence of :
(A) IRRA T FHIRRH (A) Feand Mg
(B) dfeT UG Sfarer ugret (B) Cu and Organic matter
(C) fARe va Sfiaier ueref (C) Mineral and Organic matter
(D) AT yer g dferam (D) Organic matter and Calcium

AGRON-5002 (5) Set-A



13.

14.

15.

fbq T & BRY WS gl 9 FaI ATl
goil & 7

(A) FHR

(B) URCRRM

(C) Hfesrd

(D) H™ITRRM

YThell § ol 990 F99 BI-91 O
qED & ?

(A) T

(B) K&

(C) dferm

(D) TR

forsg der @1 T wfdd FE R 2

(A) Dfezrm

(B) IfsIH

(C) oA

(D) e

AGRON-5002
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13.

14.

15.

Which of the following nutrients

promotes root growth and soil structure ?

(A) Sulphur

(B) Potassium
Calcium

(©)

(D)

Magnesium

Nutrient element helpful for pod filling in

groundnut is :

(A) Nitrogen

(B) Zinc
Calcium

(©)

(D) Sulphur

Which cation has low absorption capacity ?
(A) Calcium

(B) Sodium

Iron

(©)

(D) Hydrogen

Set-A



16. STeT¥RIG T <20 H 99 fbg wy § oo 16.  Which form of nitrogen is absorbed by

TET BT & ? paddy under waterlogging conditions ?
(A) AN (A) N,
(B) 3MIFRA M (B) NH, ion
(C) Hgglsc (C) Nitrite
(D) IEde 3 (D) Nitrate ion
17. SIdMEE © ¢ 17. Dolomite is :
(A HioIR™ PEHC (A) caco,
(B) WA Hethe (B) Mgso,
(C) i TESITES (C) ca(oH),
(D) HFIREH FErT . dfesId FEMT (D) Mgco,.caco,
18. T oM & fohee 3 a1 %9 9fg =g 18.  For more production of sugarcane juice
TS BT YT BT ? N-fertilizer be applied after planting at :
(A) 20 fam (A) 20 days
(B) 40 fad (B) 40 days
(C) 60 fa (C) 60 days
(D) 80 fas (D) 80 days
19. eH Tqedl H AAferd g 19. Trace elements include
(A) T3 . . (A) NPK
(B) HISHICUT (B) Micronutrient
(C) WeUr (C) Sulphur
(D) Hfesrd (D) Calcium

AGRON-5002 (7) Set-A



20.

21.

22.

1. Bl UL FeR B SAfIRTT ARB T
B B

(A) 3TRA

(B) HWIRRM

) K&

(D) BIW

Y UNG dd $ fAveddr R @ Aahd
g

(A) fosamE g™

B) R g

(C) I A &N

(D) TH. Ul &. YT gRI

Sfdd TAM RIUA T e wE A
AARE T -

(A) Hifeles

(B) dfal

(C) HWIRRm

(D) U

AGRON-5002
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20.

21.

22.

Most common deficiency of element

other than of NPKS is :

(A) Iron

(B) Magnesium

(C) Zinc

(D) Copper

Micronutrient toxicity can be avoided

by :

(A) Spraying

(B) Irrigation
(C) Soil testing

(D) NPK use

Biological N fixation particularly requires

adequately :

(A) Molybdenum

(B) Copper

(C) Magnesium

(D) Potash

Set-A



23. W& H SR ¥ WRIaR [dhdd] Iueterd 23.  Flooding the soil particularly increases

qedT & ? the availability of :
(A) STIRA (A) Fe
(B) @MW (B) Cu
(C) AR (C) B
(D) I (D) Mn

24, fhas foru ddel IRI YANT P W{%{ 24. Wood ash is also recommended as a

27 source of

(A) e (A) Copper

(B) R (B) Boron

(C) e (C) lron

(D) Hifelss A (D) Molybdenum

25. gRAT H TAoM b9 WU H Iua™ 25.  Which form of nitrogen is available in

39 urea ?

(A) 3HIAGA (A) Ammoniacal
(B) THs (B) Amide

(C) HIgglsce (C) Nitrite

(D) Tsge (D) Nitrate

AGRON-5002 (9) Set-A



26.

217.

28.

29.

IRM F G B B

(A) PR
(B) oM

) I
(D) &R

dd 999 H a%Yd UNH o< §

®) IR
(C) DfrH sMifHTd Asge

(D) IR FARTSS
g ¥ fhaad dl § BRI AT o7dr & ?

(A) DR
(B) HiferesH
(C) JRRA

(D) Ri®

AGRON-5002
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26.

217.

28.

29.

Boron sensitive crop s :
(A)
(B)
(©)
(D)

Sugarbeet
Turnip
Wheat

Grapes

The nutrient needed for oil formation is :
(A) Calcium
(B) Nitrogen
(C) Potash

(D) Phosphorus

Which one is organic fertilizer ?

(A)  Ammonium Sulphate
(B) Urea
(C) Calcium Ammonium Nitrate

(D) Ammonium Chloride

Khaira disease of rice is due to deficiency
of :
(A) Copper

(B) Molybdenum
Iron

(©)

Zinc

(D)

Set-A



30. W‘jﬂﬁ?ﬁ:ﬁ&‘ﬂﬂ%: 30. C: N ratio of normal soil is :

(A) 5:1 (A) 5:1
(B) 10:1 (B) 10:1
(C) 15:1 (C) 15:1
(D) 18:1 (D) 18:1
31. . T U SRS H P,O, @A T - 31. p,0, contentof DAP fertilizer is :
(A) 16% (A) 16%
(B) 32% (B) 32%
(C) 46% (C) 46%
(D) 60% (D) 60%

32. WGl 91y H ARHaH A fhea! BRil & ? 32.  Soil air contains the maximum of :

(A) SifeioH (A) Oxygen
(B) T SrRifaTSS (B) co,

(C) 3 (C) Ozone

(D) ETSSIoH (D) Hydrogen

33. Uy 3fg ¥q IMPHNI W] oMAvAdG o 33, Beneficial but not essential element to

SN plant growth s :
(A) M (A) Copper
(B) fcaram (B) Calcium
(C) wifsam (C) Sodium
(D) Ri® (D) Zinc

AGRON-5002 (11) Set-A



34, W A § ) WE 5] W G694 AP

SUYH © ?
(A) IH
(B) TR
(C) Rt
(D) St

35. HRI®T YT # @SR e yfrerd sie

g ?

(A) 35-40%
(B) 40-45%
(C) 55-60%
(D) 70-75%

3. P ¥ p,0, UNTT BER T :

(A) 1.2
(B) 2.29
(C) 1.40
(D) 4.54

37. &g wu § 09 AMFIT: T3 BT SYINT

R T ?

(A) TTEge
(B) 3rHIfII®
(C) EgIEE
(D) VES

AGRON-5002

(12)

What is most suitable for green manuring
of Rabi season crop ?

(A) Berseem

(B) Lentil

(C) Lucerne

(D) Senji

Pore space percentage in clayey soil is :

(A) 35-40%
(B) 40-45%
(C) 55-60%
(D) 70-75%

Conversion factor from P to p,0, is:

(A) 1.2
(B) 2.29
(C) 1.40
(D) 4.54

Plants generally use nitrogen in form of :

(A) Nitrate
(B) Ammonium
(C) Nitrite

(D) Amide

Set-A



38. f=falRad § | BN-91 Hed UNd do 38.  Which of the following is a metal nutrient ?
g7

(A) IR (A) Boron
(B) HTN (B) Manganese
(C) HIHRA (C) Phosphorus
(D) ¥R (D) Sulphur

39. fogdl ol 9 Ui ai § ¥ W gy 2 7 39. Grey speak condition of leaves is due to

deficiency of :

(A) drEr (A) Copper
(B) TUICR (B) Potash
(C) HT (C) Manganese
(D) K& (D) Zinc
40. Yfd S IR IUTCH %@ T39 HAT & 40. Nitrogen uptake per tonne of maize grain
is:
(A) 26 . (A) 26 kg
(B) 52 o (B) 52kg
(C) 64 fdur (C) 64kg
(D) 88 . (D) 88kg
41. Ra qr BIRBE H Fopy DI 73T Bl 41. Percentage of sulphur in single super
3 phosphate is :
(A) 6% (A) 6%
(B) 12% (B) 12%
(C) 24% (C) 24%
(D) 36% (D) 36%

AGRON-5002 (13) Set-A



42. BRI CH el e} %ﬁm—q@ﬁm Gal 42. The ratio of silica and alumina in

Kaolinitic group of soil is :

3UTT BT @ -
A 1:1 (A 1:1
B) 2:3 (B) 2:3
(C) 3:4 (C) 3:4
(D) 4:5 (D) 4:5
43. IRH GINT Pl Sfd fafdy 2 - 43. Suitable method of fertilizer application
is
(A) T A H Rebrd (A) Top dressing
(B) focdal fafy (B) Broadcasting
(C) @ H (C) Furrow application
(D) wir fosamE (D) Foliar application
44, 99 ®F B %@ avTH Afd TN dod 44, Paddy crop needs nutrient in highest
A B B amount is :
(A) TS (A) Nitrogen
(B) HIHRA (B) Phosphorus
(C) drerm (C) Potash
(D) ¥He®X (D) Sulphur

45.  DfeII® MM Sgge &l yfifhar @ 45. Reaction of calcium ammonium nitrate

is :
(A) &R (A) Alkaline
(B) 3RiIg (B) Acidic
(C) ST (C) Neutral
(D) 3IR® Il (D) Highly acidic

AGRON-5002 (14) Set-A



46.

471.

48.

AGRON-5002

ToTerl wael T A ReTOe e g
g

(A) R

(B) WREH

(C) AX

(D) IO

T 67 7T {6 Bae | ifde anfau ?

(A) g9 BH¥el

(B) ferered

(C) et

(D) =

o # T TN S Flfdd TaRAT BNl
T

(A) foheel a0 979

(B) Uf@a o & Wy

(C) Thel ®I 3@wer

(D) T W= @ 3fawRl H

(15)

46.

47.

48.

Pulse crop not fixing nitrogen is :

(A) Pigeonpea

(B) Soybean

(C) Pea

(D) Rajmash

Higher dose of sulphur is required more

in crop :

(A) Cereal

(B) Oilseed

(C) Legumes

(D) Sugarcane

Critical stage of N application in paddy

crop is :

(A) Tillering

(B) Panicle initiation stage

(C) Flowering

(D) Grain filling stage

Set-A



49. TIEH Bl & IfARTd TAS WU BT 49. The main source of N fixation after

WW%\: legumes is :

(A) TGl (A) Azolla

(B) QTrﬁEﬁ?rE‘\’ (B) Azotobacter
(C) a-sRa dara (C) Blue-green algae
(D) FRGLISIH (D) Clostridium

50. Iof <1 # IRAT @@ fhaw &7 aie 50. In flooded water, the pH urea top

BT & ? dressing is done after :

(A) 35 fed (A) 35 days

(B) 55 faa (B) 55 days

(C) 60 fad (C) 60 days

(D) 80 fad (D) 80 days

51. THIGHRE H oo Bl & oIV 51.  Vermicompost contains nitrogen about :

(A) 1.0% (A) 1.0%

(B) 1.6% (B) 1.6%

(C) 4.0% (C) 4.0%

(D) 7.0% (D) 7.0%

AGRON-5002 (16) Set-A



52. 3gad & 9re ¥ fhaar T3 fferdr 52. Green manuring on the average adds

37 nitrogen about :
(A) 20 fHuT. /% (A) 20 kg/ha.
(B) 30 fHuT /% (B) 30 kg/ha.
(C) 40-60 fouT. /% (C) 40-60 kg/ha.
(D) 60-70 fuT. /. (D) 60-70 kg/ha.

53. WRWMING % ¥ TEOhdI @ dgd  53. Esterification with phosphoric acid is

3. called :

(A) el (A) Photolysis

(B) “ﬂ@ﬁﬁﬁﬂ? (B) Putrefication
(C) IR (C) Phosphorylation
(D) SCHE (D) Reversion

54. Bgd forgd foregq &1 S/a9nyor eldy g 54. Response to gypsum application is

absorbed in :
(A) T (A) Wheat
(B) ¢ (B) Jute
(C) el (C) Groundnut
(D) WRIEI (D) Soybean

AGRON-5002 (17) Set-A



55. fyfoiRed & & omellg 4f7 2 Suga@  55.  Suitable fertilizer of the following in acid

IRG 2 soil is :

(A) TR RGBS (A) Single superphosphate
(B) STSHIFRM Bihe (B) Diammonium phosphate
(C) @ BRWC (C) Rock phosphate

(D) 3MITH Hethe (D) Ammonium sulphate

56. @leil Fal ¥ HHE-9T a9 feay JEr o 56. Which element is found maximum in

R & 2 black soils ?

(A) AV (A) Nitrogen

(B) HIWHRY (B) Phosphorus

(C) e (C) Potash

(D) R (D) Sulphur

57. @RV NGl H <exI8e Jal @ - 57. Laterite soil group under taxonomy order
is of :

(A) T (A) Vertisol

(B) 3ffciIeT (B) Oxisol

(C) s (C) Invertisol

(D) SUYa H A Bl 7l (D) None of the above

AGRON-5002 (18) Set-A



58. T, &7 M fba faar ? 58. Concept of pH was given by :

(A) 3 (A) Amon
(B) grsT (B) Troug

(C) AR~ (C) Sorenson
(D) ferer (D) Nicholas

59. g H VAN a1 S dren Sifdd SRS 59.  What biofertilizer is used in wheat crop ?

g7
(A)  TSfrer (A) Azolla
(B) &I varel (B) Blue-green algae
(C) TUWICIddeR (C) Azotobacter
(D) Suga H A Bl el (D) None of the above
60. HaT SRS e HRYT FH &I Wil § 7 60.  Soil fertility is reduced due to :
(A) Tawgd @t (A) Extensive cropping
(B) TEH Wil (B) Intensive cropping
©) fafa @ (C) Mixed cropping
(D) IIHAAT Tl (D) Intercropping

AGRON-5002 (19) Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR FRI9T SR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
G IR AT WY TR = plel I7 987 T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM B b GEM & AP fordd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B W foras 9 @ I oI W W et @
WYY Ig foral WM |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE XM & I
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq mfeT = 2|

10. @15 A WG BR, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, UE-%e ¥ dN-g, deldeicy, UoR a2l Hegerk
B o ST T SHBT START BRAT i 8 |

12. 9 & Bl U9 S WURRY ¥ fO~cr g &
T H YT BT U WURYT & A BT |
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